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(1) #TEEUXA
ZH=E 9,550,000 9,485,000 9,630,000
BEAN-FEEEZWMESEH 2,600,000 2,605,000 2,586,000
HiAx - B8 SREEH 6,900,000 6,880,000 6,995,000
BEA-HAFA=E8ZIRAESE 50,000 0 49,000
THURA 22,660,000 7,700,000 8,301,803
F=3i 900,000 1,000,000 918,000
1,800,000 1,500,000 2,002,000
FEREEBEIRA 10,000 o} 24,000
EE=:E (LPM/LAMP) S22 A 19,850,000 1,100,000 1,805,303
EIPFE=5% (SLPC)FEZEUXA o 3,800,000 3,444,500
F L —FJLILMNE FHE Y A 100,000 300,000 108,000
ZTDIhITEEEH o) 0o o]
ZHHBIESE 3,000,000 o 1,300,000
SZHYBI R 3,000,000 o 1,300,000
ZHR— AL EF Mt 0 o o]
IEEIEBRBAE NS D IREEEE o) o o]
HMEUR A o o 436
SZHRF R o] 0o 436
HEUR ZE 0 o] 0o
FEEURAGT 35,210,000 17,185,000 19,232,239
25,250,000 10,330,000 7,749,385
2,100,000 1,700,000 1,792,655
2,500,000 3,200,000 2,527,488
EfE£iE (LPM/LAMP) S5 22 19,100,000 800,000 208,145
ESE=i5(SLPC)E %2 o] 3,800,000 1,934,234
X —F JLILMNIEEHEZE 1,550,000 630,000 1,286,863
ZTDithIT T o] 200,000 o]
EIRE 9,680,000 10,440,000 9,483,866
HwE5FH 6,200,000 6,400,000 6,041,967
fBREEEH 800,000 850,000 721,103
=EH 50,000 100,000 16,610
RE3ZBEE 400,000 500,000 368,003
WIS ERE 150,000 150,000 108,162
=8 120,000 140,000 137,946
EBR, IKEH 50,000 40,000 54,584
E=FAME 150,000 230,000 208,998
SHIERE 500,000 300,000 482,863
EBEETE 540,000 530,000 518,760
R—LR—TEHE 180,000 250,000 167,236
y—= 30,000 140,000 20,476
XL F B 40,000 30,000 32,508
FEFR N ER 70,000 350,000 354,000
Pl 100,000 230,000 18,366
FimE 300,000 200,000 232,284
EEZHE 34,930,000 20,770,000 17,233,251
L AR E IR EEE 280,000 A 3,585,000 1,998,988
2 #REMEREOER
(1) #BEESUIXAESET o) o o]
(2) #BEEHNEZHEE 0 0 0
L HEAREE S EEE o ] [s]
L HA— AR IE R BA EE YRR 280,000 A 3,585,000 1,998,988
—RRIEBREAEHIE XS 34,645,194 32,646,206 32,646,206
—ARIERKRBAEHEARZ S 34,925,194 29,061,206 34,645,194
O 5 5E IE Bk i858 oD &f
L HAYS TE IE R BA EE 1R S o o o]
IEEIEKREAESHE XS 0 o o]
IEEIEBRBAEHAK IS o) o] [s]
I TFFeRkEAERAK R E 34,925,194 29,061,206 34,645,194
URZEFEHHNER(ESB)

EA=E2724 % 10,000=2720,000, A== E64 % 5000=30,000
HiAs=81)> 2% L79%t % 50,000=3,950,000, F{FA=E")>oHY38%t X 60,000=2,280,000,

B 815%t X 50,000=750,000




